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Read questions carefully before answering.
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Calculations, figures and graphs should be shown in the answer sheet itself.
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Give equations wherever necessary.
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Answer all questions from question 1 — 5. Each question carries 1 Score.
(Scores : 5x1=5)

How many flip-flops are required to construct a mod-30 counter ?

An integrator is a filter.

In television transmission, bandwidth required for a channel is
[5.5 MHz, 11 MHz, 7 MHz, 14 MHz]

Minimum value of input dc voltage required to get a regulated output of +8 V using
IC 7808 is

[2V,10V,8V,5V]

The working principle of OFC is

Answer any six questions from 6 to 13. Each question carries 2 Scores.

(Scores : 6 x 2=12)
Prove that A(A + B) = A

Ideal frequency response curve of a circuit is given below :

(a) Identify the circuit. (Score : 1)
(b) Draw the circuit diagram. (Score : 1)
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Define CMRR.

Draw the index profile of step index fibre and graded index fibre.

Draw the circuit of a half bridge inverter.
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1 2)®@3 5 QAIHOWBB GaldBLEBUIGH MIRMUIMWAIV)o DDMVo af) V)M, 630G
Al EMOGTIM)o 30} cALIA all@o. (capodav’: 5 x 1=15)

Mod-30 counter Ml@axlamnmM @M ag)@ flip-flop &3 @RyQILd y@o6M.

&0) integrator filter @yerm.

eseflafla@ Vo laUMEMI®, B30) 2lomelm @YV bandwidth
@Ryem.
[5.5 MHz, 11 MHz, 7 MHz, 14 MHz]

IC 7808 @alcwourila] +8 V &0mn)crIQ 6305015 RIEl9aM@IM @rya1voiao® alailas
6DMBal)g GQIOUBESER @1RY6IM.
[2V,10V,8V,5V]

OFC @)6s (a1013@rmMm @®]o @RY6.

6 ®@3 13 QOISR €alBIEIBSEIGE aBo®BTIENe GROOGNOTIM DEMo
) 9)®)d. 390G VOAIVBMAGTIM]e 2 ¢aPIA afl®o. (capodav’: 6 x 2 =12)

A(A +B)=A agam oomg&l0oe)s.

830} MBH Y510 Haf W@ (Al BAV] HOTVEAI06MAV ®06)¢ GAVIBIBNM] :

(@) aLABYNT B |OlW). (eapod : 1)
(b)  TVABBHS WD QIO (capod : 1)
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CMRR 01@Q ) leend>.
Step index eea0MIGIOR)0 graded index HOa0MIGIOM®])0 index profile QIO .

Half bridge inverter-6a3 v )5 W@ (o QIO
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Draw the structure of a commonly used VHF receiving antenna.

Assume ‘1’ indicates the ON condition and ‘0’ indicates OFF condition of
LED. Design a circuit to obtain the LED sequence as 1000, 0100, 0010, 0001,
1000, ..... etc.

Draw a basic RADAR system used in ships.

Answer any FOUR questions from 14 to 18. Each question carries 3 Scores.

(Scores : 4 x3=12)

Using IC 7400, implement the functiony = AB+ AB.

(a) Identify the circuit given below. (Score : 1)
(b) Draw its output waveform (diode is ideal). (Scores : 2)
R

NV
IN 4001 )S

Via = 12 Vpp () § Vo

3V l

(a) Write the output equation of an integrator. (Score : 1)

(b) Draw the above circuit using IC 741. (Scores : 2)

Draw the block diagram of a TV transmitter.

Explain different distortions in tape recorder.

4



11, avowoosm alcouflasyam VHF dlmilaileuy @ryadlm@es ceism alom)d.

12. &0y} LED-@os ON &l 1 ©alcwouilajjo OFF @enélartad 0 9alc@ouilaj)e
V)2 flafloeam) ag)am aflaio@lee)d. LED @alcouilaj 1000, 0100, 0010, 0001, 1000,

e 0f)AD CUIET DENMBOSHMGIMOAUUDINIW TLABNG WIHHAVAB 6121Q)D>.

13, &alenagled 9alc@orllenan cmiatle; H#OWId AVlaye QIOWw.

14 2)®@3 18 1160088 ¢21033MS108 aBO®EILN0 4 af)ANOVIM DODOOA) ).

830600 VAIW)AMAAIBIM)o 3 ¢aVIA afl®o. (capodav’: 4 x 3 =12)

14. IC 7400 9alconlaj y= AB + A B agyan function (100130 &H0009)6.

15. (a) 969 ®aMIdlenmm VBN @Idla]Clw)s. (eapod : 1)

(b)  @lem Bv5ang Waveform alE®. (WEWIW BaUIlWE3 @REeM).  (¢apodav': 2)
R

NV
IN 4001 )S T

Via = 12 Vpp () § Vo

3V l

16. (a) &0)maBewqoleaad output equation ag)9)®d . (eapod : 1)

(b)  camdajosom AVABYS IC 741 Dalcoutla] ail@onilee)d. (capodav’: 2)

17. &) sl.all. (s08aualgoleaad ¢amiods AW(UWo Q10D

18.  esaj@0canddawdleand allallw moomilengs distortions afluodle@le9).
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Answer any FOUR questions from 19 to 23. Each question carries 4 scores.

(Scores : 4 x 4=16)

What is race around condition ? How it can be eliminated ?

Draw the block diagram of an electronic exchange.

With block diagram explain the working of a UPS system used in hospital

ICU.

You are given transistors, capacitors and resistors. Construct a circuit to open the door

of a gate while hearing the horn of a car and close it after a delay.

Draw a complete vestigial side band frequency spectrum for a picture carrier frequency

of 240 MHz. Mark all important frequencies.

Answer any THREE questions from 24 to 27. Each question carries 5 scores.

(Scores : 3 x5=15)

(a)
(b)

(a)
(b)

(2)

(b)

(a)
(b)

Which logic gates are known as universal gates ? (Scores :
Reduce using K-map :

f(A,B,C,D)=%(1,5,6,9, 12, 13, 14, 15) (Scores :

Draw circuit diagram of astable multi-vibrator using 555 IC. (Scores :

What are the different steps involved in fabrication of resistor in a silicon

chip ? (Scores :

Draw the block diagram of a fax transceiver. (Scores :

What is the concept behind frequency reuse ? (Scores

What is the working principle of a moving coil loud speaker ? (Scores

With neat diagram, explain its working. (Scores :
6
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19 2@@@ 23 a0ow)as  ¢a1syEBgElad  o@e@@lele  MIsLIgNOIm
DOMONAY)®)M>. 530G VOAIWAMAATIM)o 4 ¢1HOA afl®o. (copodav’: 4 x 4 =16)

ag)amoem’ race around condition ? eN@ ag)@BOM BFIQISN0 ?

630, electronic exchange &3 GERIOGH WD (o QIO .

aRyuolal@laleel ICU-@3 Dalcouilaman UPS mﬂg}g@mﬂ@c@ (1B Mo cs%ooes)”

WO(No Oalec@oula] allvddle:dl o).

MlenBes 0] transistors, capacitors, resistors agavilal @alclee)am). 60} cngload

Q@@ HO01OMF Ca006M ECHUBANEMINUD OANHWo @RL|TVAVBTIM)EUdaHo

@BRSIHW]o H2IQANGTIM TVaOIWHOAIW TVABNS WIB2A1H6)D.

Picture carrier (aflaaday] 240 MHz @@ &30) vestigial side band (adlejadayv’ DAY (o

QIO af)EJo (1WIM (LlBHIMBAVI®:S)o BPSWIBHQ|S)OI)D.

24 @@ 27 aepowas  ¢a1034sglad  agoméslele  MEMENOTIM
DTMOHAY)@)fh. OGO YOAIW)AMADBIBIM)o 5 ¢MHOA afl@o. (capodav’: 3 x 5=15)
(@) op® logic gate HOBWOEM WHMIEAUILAVE ENQAV af)aN) al0@IM® ? (GaPIA : 1)
(b) K-map 9alc@ouila] e1oe)aclee)d :

f(A,B,C,D)=2%(1,5,6,9, 12, 13, 14, 15) (capodav’: 4)
(@) 555 IC @alc@oufla] 630) Astable multi-vibrator Mu@a g MB0le9). (capIBaV': 3)
(b) &0y aflelloped aflafl@d 60 resistor anIENACHOQ H2IQYINGIMONIVDYAIW

aflaflw steps ag)9)m . (capodav’: 2)
(a) &) Fax Transceiver-0ag GeRIode A® (o QIOD)d. (capodav’: 3)
(b) Frequency reuse ag)am @uo®@o QflUdBRIHN)D:. (capodav’: 2)
(a) &) moving coil loud speaker-6a3 (x1QIBAHM OB@lo ag)a® ? (eapod : 1)
(b) 2 l@oBIeONG Ta00WEEOeS @RGEIOHM (IIBEDMo allodla:dlua. (capIdav': 4)




